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1. Which of the following article has been introduced for reservations for women in LS?

a.337 A
b. 67 A

c.330 A
d. 228 A

Answer. ¢

2. Which of the following board is being established in Konkan region of Maharashtra?

a. Mango Board

b. Turmeric Board

¢. Research Centre for Banana
d. Watermelon Promotion Board

Answer. a

3. The Maharashtra Cabinet on 18th August 2023 announced the implementation of which road scheme?

a. Bhagwan Birsa Munda Road Scheme
b. Char Dham Road Scheme

c. Atal Tunnel Road Scheme

d. Ganga Expressway Road Scheme

Answer. a

4. Through which amendment Women Reservation Bill has been added to the constitution?

a. 120th Constitution Amendment
b. 122nd Constitution Amendment
¢. 126th Constitutional Amendment
d. 128th Constitution Amendment

Answer. d

5. Latur Medium College of Maharashtra has been renamed after the name of:

a. Vilasrao Deshmukh

b. Morarji Desai

¢. APJ Abdul Kalam



d. Anna Hazare

Answer. a

6. Asian Development Bank approved what amount of loan for Maharashtra to provide power connection in rural areas in Maharashtra?

a. 350 million dollars
b. 200 million dollars
¢. 700 million dollars
d. 100 million dollars

Answer. a

7. Which day is celebrated as State Journalist Day in Maharashtra?

a. 2nd February
b. 8th April

c. 11th October
d. 6th January

Answer. d

8. World Trade Expo 2023 will be held in:

a. Uttar Pradesh
b. Meghalaya
¢. Maharashtra
d. Kerela

Answer. ¢

9. Which Indian Naval Ship has be decommissioned after 36 years of service?

a. INS Magar
b. INS Mahaan
¢. INS Vihaan
d. INS Bhim

Answer. a

10. As per recent study human-induced climate change has caused a substantial change in the colour of?

a. Ocean

b. Trees

¢. Land

d. Mountains

Answer. a

11. India recently signed MoU with which of the following country to collaborate on sharing of INDIA STACK?



a. Thailand

b. Pakistan

¢. Canada

d. Trinidad and Tobago

Answer. d

12. Which city hosted the 'Global ESG Conclave 2.0' ?

a. Paris

b. Hong Kong
¢. Amsterdam
d. Dubai

Answer. d

13. Daimabad in Maharashta was located on which river?

a. Pravara
b. Krishna
¢. Ganga
d. Indus

Answer. a

14. Sant Namdev was a famous saint of which of the following states?

a. Uttar Pradesh
b. Uttarakhand
¢. Maharashtra
d. Chattisgarh

Answer. ¢

15. Which of the following battles was fought in AD 1192?

a. First battle of Tarain

b. Second battle of Tarain
c. Battle of Talikota

d. Battle of Khanwa

Answer. b

16. Gandhi ji wanted the Communal Award to be withdrawn, for this he started a fast unto death in which of the following places?

a. Yeravada jail

b. Sabarmati ashram

¢. Madras Central Jail



d. Kala Pani Jail

Answer. a

17. Which famous movement was started in Bombay on 8th August 19427

a. Swadeshi movement

b. The Khilafat Movement

¢. Non Cooperation Movement
d. The Quit India Movement

Answer. d

18. Which of the following famous peasant movement took place in Maharashtra?

a. Eka Movement

b. Champaran Satyagraha
c. Kheda Satyagraha

d. Poona Sarvajanik Sabha

Answer. *bouns*

19. Which of the following tribal movements took place in Maharashtra during the British Rule?

a. Kuki Rising

b. Singpo Rising

¢. Munda Revolt

d. Ramsoi Revolt

Answer. d

20. Which of the following Maratha ruler signed the Treaty of Bassein with the British?

a. Baji Rao I

b. Balaji Baji Rao

¢. Balaji Vishwanath
d. Baji Rao II

Answer. d

21. In which year did Shivaji make Raigarh his capital?

a. 1674 AD
b. 1680 AD
¢. 1627 AD
d. 1656 AD

Answer. a

22. Tarabai ascended the throne after the death of which ruler?



a. Shivaji
b. Rajaram
¢. Sambhaji
d. Shahu

Answer. b

23. The Collector of Nashik in British India was assassinated by which of the following freedom fighter from Maharashtra ?

a. Babu Genu

b. Baiza Bai

¢. Anant Laxman Kanhere
d. Nana Patil

Answer. ¢

24. The first individual Satyagrahi, Acharya Vinoda Bhave offered Satyagrahi in which among the following way?

a. By not paying taxes

b. By burning British flags

c. By makin a against the viceroy of India
d. By making anitwar speech

Answer. d

25. Maharashtra falls under which mineral region of India in the east?

a. Konkan Area

b. Vidharbha Area

¢. Southern Belt

d. North-Western Belt

Answer. *bouns*

26. Which of the following Ultra Mega Power Plant is located in Maharashtra?

a. Sasan
b. Mundra
c. Girye
d. Tadri

Answer. ¢

27. Which of the following thermal plant is located in Maharashtra?

a. Uran Gas Turbine Power Station

b. Kota Super Thermal Power Station

¢. Korba Super Thermal Power Plant



d. Barauni Thermal Power Station

Answer. a

28. Konkan Railway connects:

a. Maharashtra, Karnataka and Goa

b. Maharashtra , Madhya Pradesh, Odisha
¢. Karnataka, Goa, Kerela

d. Kerela, Tamilnadu, Maharashtra

Answer. a

29. Ambedkar Airport is located in which of the following city?

a. Mumbai
b. Nagpur
c. Kolkata
d. Kanpur

Answer. b

30. Which of the following rivers does not flow into the Bay of Bengal?

a. Mahandi
b. Kaveri

c. Tapi

d. Godavari

Answer. ¢

31. The direction of the monsoon of the Arabian Sea branch is from:

a. NorthEast-SouthWest
b. SouthWest-NorthEast
¢. SouthEast-NorthWest
d. NorthWest-SouthEast

Answer. a

32. According to 2011 census ,What is Maharashtra's rank in population?

a. 5th
b. 1st
¢. 2nd
d. 7th

Answer. ¢

33. According to 2011 census, the literacy rate of Maharashtra is:



a.0.75
b. 0.7

c. 0.64
d. 0.82

Answer. d

34. The phenomena “Rainfall of Diamonds” occur on which of the following planets?

a. Uranus
b. Earth
¢. Mars
d. Venus

Answer. a

35. Maharashtra contributes about how much percentage of GDP of India?

a.0.05
b.0.15
c. 0.25
d. 0.35

Answer. b

36. Which city of Maharashtra is known for its cotton seeds?

a. Akola

b. Aurangabad
¢. Kolhapur

d. Nagpur

Answer. a

37. The Bombay reorganization Act of 1960 split Bombay into present state of:

a. Maharashtra and Karnataka
b. Maharashtra and Telangana
¢. Maharashtra and Gujarat

d. Maharashtra and Goa

Answer. ¢

38. Fundamental Rights have been described in which part of the constitution?

a. Part 1

b. Part 3

c. Part 5



d. Part 7

Answer. b

39. The term of Legislative Assembly can be extended upto how much time in case of national emergency?

a. 2 months
b. 6 months
¢. 9 months
d. 1 year

Answer. d

40. The three tier system of Panchayati Raj System was recommended by which of the following committee?

a. Balwant Rai Mehta Committee
b. Ashok Mehta Committee

c. LM Singhvi Committee

d. PESA Act

Answer. a

41. How many members are elected from local bodies in Maharashtra Vidhan Parishad ?

a.22
b.7

c. 12
d. 39

Answer. a

42. The winter sessions of Maharashtra Legislative Council are held in:

a. Mumbai
b. Nagpur
¢. Kolhapur
d. Pune

Answer. b

43. Who was first Speaker of Maharashtra Legislative Assembly after formation of Maharashtra state?

a. S.L. Silam

b. Dattatray Kashinath Kunte
c. Rahul Narvekar

d. Narahari Zilvarkar

Answer. a

44. If state government dissolves the Panchayat then next elections should be held within:



a. 4 months
b. 3 months
c. 1 year

d. 6 months

Answer. d

45. Which type of bill can the governor of Maharashtra not send for reconsideration back to the Maharashtra legislative assembly?

a. Ordinary bill

b. Money bill

c. Constitutional amendment bill
d. Finance bill

Answer. b

46. The minimum possible strength of council of ministers in Maharashtra according to constitution is:

a. 12

Answer. a

47. The Indian Constitution provides for the appointment of Ad hoc judges in the:

a. High Court

b. District Court
¢. Supreme Court
d. Parliament

Answer. ¢

48. Who was the first Chief Justice of Bombay High Court ?

a. Sir Mathew Richard Sausse
b. Sir Richard Couch

c. Sir Charles Sargent

d. B. N. Deshmukh

Answer. a

49. The first modern cotton textile mill was established in Bombay in the year:

a. 1850
b. 1844

c. 1854



d. 1888

Answer. ¢

50. Indian Security Press' is in which of the following city?

a. Dewas

b. Hyderabad
¢. Nashik

d. Mysore

Answer. ¢

51. The Central Office of the Reserve Bank was initially established in Kolkata but was permanently moved to Mumbai in the year:

a. 1947
b. 1944
¢. 1937
d. 1930

Answer. ¢

52. Which of the following committee was constituted for reforms in tax structure?

a. Narsimham Committee
b. Chelliah Committee

¢. Gadgil Committee

d. Kelkar Committee

Answer. b

53. Projected GSDP of Maharashtra for the year 2023-24 is around:

a. 38.79 Lakh crore
b. 25 Lakh crore
c. 15 Lakh crore
d. 14 Lakh crore

Answer. a

54. Fiscal Deficit of Maharashtra for the year 2022-23 is around:

a.2.50% of GSDP
b. 7.50% of GSDP
c. 10% of GSDP
d. 0.5% of GSDP

Answer. a

55. Shishu , Kishor and Tarun are the schemes of :



a. Regional rural banks

b. Pradhan Mantri MUDRA Yojana (PMMY)
¢. Small Industries Development Bank of India
d. Industrial Development Bank of India

Answer. b

56. Mumbai Metropolitan Region Development Authority was established in the year:

a. 27th June ,1975

b. 23rd May , 1975

¢. 26th November ,1974
d. 26th January ,1975

Answer. d

57. Which of the following sectors is a part of the social sector in Maharashtra?

a. Banking and finance

b. Agriculture and farming
c. Healthcare and education
d. Information technology

Answer. ¢

58. Which of the following Sustainable Development Goals focuses on reducing inequalities within countries?

a.SDG 2
b. SDG 7
¢. SDG 10
d. SDG 3

Answer. ¢

59. Which social reformer from Maharashtra is also known as 'Mother of orphans'?

a. Dhondo Keshav Karve
b. Sindhutai Sapkal

¢. Mahatma Jyotiba Phule
d. Dr. Rani Bang

Answer. b

60. Bal Gangadhar Tilak established the New English School in Poona in the year:

a. 1896

b. 1880

c. 1870



d. 1875

Answer. b

61. What kind of energy is stored in a watch's spring?

a. Potential Energy
b. Kinetic Energy
c. Heat Energy

d. Chemical Energy

Answer. a

62. In which type of oscillation the loss of the oscillator is compensated by supplying energy from an external source?

a. Free oscillation

b. Maintained oscillation
¢. Forced oscillation

d. Damped oscillation

Answer. b

63. Sound cannot pass through in which of the following?

a. Solids
b. Liquids
c. Gases
d. Vacuum

Answer. d

64. Which of the following is the unit of measurement for the fiery heat of a chilli pepper?

a. Wright
b. Smith
¢. Orville
d. Scoville

Answer. d

65. What is the dipole moment in the BF3 molecule?

a.0
b. 1
c. 1.25
d.2.15

Answer. a

66. What is the primary constituent of Biogas?



a. Butane

b. Methane

¢. Nitrogen dioxide
d. Ethyne

Answer. b

67. Which element has the narrowest liquid range in the periodic table?

a. Fluorine
b. Helium
¢. Neon

d. Argon

Answer. ¢

68. Which of the following helps in blood circulation?

a. Monocytes

b. Arithrocytus
¢. Blood platelets
d. Lymphocytes

Answer. d

69. Which of the following is the most giant living bird?

a. Peacock
b. Ostrich
c. Kiwi

d. Eagle

Answer. b

70. In plants, water is transported by:

a. Epidermis
b. Phloem
¢. Cambium
d. Xylem

Answer. d

71. The common spice clove is derived from which of the following?

a. Fruit

b. Stem

¢. Flower bud



d. Root

Answer. ¢

72. The floral component that yields pollen grain is called:

a. Sepal
b. Petal
¢. Anther
d. Ovary

Answer. ¢

73. Which vitamin is produced by the intestinal bacteria?

a. Vitamin A
b. Vitamin E
¢. Vitamin D
d. Vitamin K

Answer. d

74. At the end of a business conference, the 10 people present all shake hands with each other once. How many handshakes will there be altogether?

a. 45

Answer. a

75. What is the value of y? 3x + 2y = 10 4x + 6y = 12

a. 10/7.0
b. 17/7.0
c. 12/7.0
d. 16/7.0

Answer. *bouns*

76. The total age of three kids in a family is 42 years. What will be the total of their ages after three years?

a.328
b. 378
¢. 388
d. 338

Answer. *bouns*

77. Simplify: 123 - 19 x 2 + 12



a. 900
b. 920
¢. 910
d. 890

Answer. *bouns*

78. The population of the village is 19980. Out of them 4523 are women and 6323 are men. Find the number of children in the city.

a.9134
b. 9124
c. 9114
d. 9280

Answer. a

79. Find out the signs to be interchanged to make the following equation correct. 8-9*8/4+1=25

a. plus and subtract

b. multiply and divide
c. divide and subtract
d. subtract and multiply

Answer. a

80. Salary of Shiv is 2 times more than that of Suresh. Suresh's monthly salary is 1200. Find Shiv's yearly salary

a. 28800
b. 2430
¢. 2460
d. 2890

Answer. a

81. The area of the triangle is 180 and the base is 12. Find the height

a.30
b. 25
¢. 36
d. 20

Answer. a

82. The average of three numbers is 280. First two numbers are 360 and 120. Find the third number

a.280

b. 120



¢. 240
d. 360

Answer. d

83. If the sum of three consecutive even numbers is 126. Find the middle number

a.40

Answer. b

84. The average speed of bus is 80 miles per hour. Total time is 4 hours, find the distance

a.310
b. 280
c. 420
d. 320

Answer. d

85. 80 is what percent of 200?

a.40

Answer. a

86. A bottle factory manufactured 2000 bottles in 25 days. How many bottles did it manufacture in 6 days?

a. 420
b. 440
c. 430
d. 480

Answer. d

87. The cost of 5 purses is 1220. Find the cost of 11 purses.

a.2684
b. 2682
¢. 2660
d. 2650

Answer. a



88. According to All India Survey on Higher Education 2020-2021 , Which city from Maharashtra ranks 4th in number of Educational Institutions?

a. Mumbai
b. Pune

¢. Nagpur
d. Nasik

Answer. b

89. What is the rank of Maharashtra according to size of GDP?

a. Ist
b. 2nd
¢. 3rd
d. 4th

Answer. a

90. Which company included in 'General Insurance Corporation' has its head office in Mumbai?

a. United India Insurance Company

b. The Oriental Insurance Company Limited

¢. National Insurance Company Limited

d. The New India Assurance Company Limited

Answer. d

91. India's first Bharatiya Mahila Bank was opened in which of the following city?

a. Mumbai
b. Chennai
¢. Kanpur
d. Mysore

Answer. a

92. I am an odd number. Take away one letter and I become even. What number am 1?

a. Nine

b. Seven

¢. Eleven

d. Twelve

Answer. b

93. Solve - 15+ (-5x) =0

b.3



c.0
d. 45

Answer. a

94. Look at this series: 38, 36, 32, 30, ? What number should come next?

a.26
b. 24
c. 22
d. 20

Answer. a

95. If 13*11=341 and 12*13=651 then, 13*6=?

a. 78
b. 76
c. 87
d. 84

Answer. ¢

96. Find the missing number:

Answer. d

97. Find the correct analogy: Thermometer: Temperature
a. Length:Breadth

b. Milimeter:Scale

c. Cardiograph:Heart rate

d. Solar energy:Sun

Answer. ¢

98. Rectify the error in the sentence: The Leaders’” Summit (1)of India’s presidency(2) of the G-20 grouping(3) , held in the weekend(4)

a. 1



b.2
c.3
d. 4

Answer. d

99. What does light year measure?

a. Intensity of light in one year

b. Distance of light travels in one year
c. Intensity of light in one day

d. Distance of light travels in one day

Answer. b

100. How many feet are in the mile?

a. 5280
b. 5260
¢. 6220
d. 6940

Answer. a
Test Question Language:- HINDI

1. TAAU®! HIUET SgRG AbaNae) TR JREUINIG Wex dHar a?

a.337 A
b. 67 A

c. 330 A
d. 228 A

Answer. ¢

2. TSB! PG Hees HERIYRAT HIbU AUTTNIST RIfid d o 3me?

a. 3ffe Hge
b. g e
c. oSt WM P
d. BiiTS e dew

Answer. a

3. HERIY HEESeH 18 e 2023 ISt HI0T T Jio-=al SHaEsauiEr aivon FHar?

a. W faRan ge1 3 e
b. IR UM I AT

¢. 3T NSl Tl TreHT



d. T GeRTdt & Al

Answer. a

4. DU YeAIGERIGR AR RO e dfaummes sevard ama?

a. 1208 gegEw
b. 1224} TeTgmRi
c. 1268 TGt
d. 1284} TeTgewi

Answer. d

5. ERINEAT AR gD Blord HIMGEA AHGIUN BTN A MR-

a. foomeRE <XgE
b. FRRE 39
c. U0 3fsgd Ham
d. 30O FAR

Answer. a

6. TR IFauic db HERIgR IR UrTHeY e Sievar RAvaTaId! HERINTA fadl IHHY dol HeR bad 3Me?

a. 350 T S
b. 200 TRE St
c. 700 e STy
d. 100 g=@e Sty

Answer. a

7. Do fGaw T THR G WU AERIEIG WIORT Bl Siar?

a. 2 Bgart
b. 8 Tl

c. 11 iR
d. 6 SHaR

Answer. d

8. I8 08 TAT! 2023 T A AT Bt w18 a:

a. IR T
b. BT

¢. FERTY
d. e

Answer. ¢

9. HIU YRANT gt eTel 36 Iufear AR Yargad FH0ITd 3HTA?



a. INS #1R
b. INS HgH
c. INS fagH
d. INS |

Answer. a

10. AT AR THI-URT gIHH dJeaies are Wmae dgolia sga e sme?

a. HeNR
b. IS
¢. S
d. 95

Answer. a

11. YRdH 3rcfirad wrefiates! Hiurar SuE INDIA STACK 3R SRUgiast Jriere SRR WIeR) hell 3e?

a. Yrgas
b. T
c. FsT

d. Bfare snfdr dermn

Answer. d

12. HIUAT ARA "ed ESG di-aae 2.0' smaifed Fa?

a. URY
b. BT

c. TaweRsn

d.gss

Answer. d

13. TERWIAS AT o Tdida! Rud me?

a. Yo7

b. Fwm
¢.
d. Ry

Answer. a

14. Id e Wrelldie! S IearE UG Id ga?

a. JR U
b. SRES

¢. HERTE



d. SUNTE

Answer. ¢

15. TGSt SO TS ST I 1192 It deeht Telt?

ER R I
b. W gHA Terd
c. ARl T
d. TFa e

Answer. b

16. e 31 St &) S farsT AR Sdar W, e G SR SUN Wietadst Hurer Selt gE da?

a. RasT g&I

b. FIeRHA 3MyH

c. TS merad g&
d. ST UTugrET T

Answer. a

17. S Ui siicie 8 offe 194235 Has 3 & Ia?

a. Wit sfdie
b. ReBa e
¢. -EPR 3fara
d. B URA sfiEra

Answer. d

18. TS HIUK JdH MG HERIE TF A2

a. TP 3idier

b. FURT TATTE
c. GST IATIE

d. g0 gdefAe g

Answer. *bouns*

19. Trftaiat Horh sifeardt geqw fafexr eadi=n M HERI U 3Ma?

2. 3@ g
b. Rt fagis
c. 531 fage
d. s fage

Answer. d

20. TEAUP!T PG TRIST IThA HeUHE U= qeraR WieRt Har?



a. SR 1
b. STeTell SR
c. Framn fayEr
d. SRE 10

Answer. d

21. HIUIAT IS RIS AERISIHT TS AT AU IS STa?

a. 1674 AD
b. 1680 AD
¢c. 1627 AD
d. 1656 AD

Answer. a

22. ARTEE HOAT JTHAT TR RIgRAER S9er?

a. ol 7R
b. INRMH

c. Toht

d. 3

Answer. b

23. HERIYIa iU Wia AFen fafewr sfeamesd Tireear Reeferar gar Hed?

a. g T
b. SETS
¢. 3fFid AT HleY

d. T uida

Answer. ¢

24, Ufd Jufdaes TR, smd fafer uid- Tciate! P Ugde GarE bar?

a. R T HET
b. fofedr eqer Sre

¢. HRAT FlewRg R el deeT
d. gSRIR U e

Answer. d

25, TERTY YRATHT Yddhald HIU Wie gexmard Jar?

a. HIHU fquET
b. fagyf faum



c. afgmft agr
d. IT-ufge ugr

Answer. *bouns*

26. WATAUDT BV Sfeel WM TR Wie HERIY RUd 3mg?

a. gl
b. T
C.ﬁ’a:
d. e

Answer. ¢

27. Wrefiqis! Hivar ¥ifd wie TEREd fRUd 3mg?

2, RO 7Y a5 UrR R
b. PleT R e ofaR ®RH
¢. BRAT YR YA TR @<
d. T ol TR ®IE

Answer. a

28. HIHU Yed TAT S

a. TERIY, Bfed 3T Mt
b. FERIE, WA T, ST
¢. Fiee, T, 3RS

d. I, ASTg, TERTY

Answer. a

29, ISP [FAMTe Teiais! BT e 3HR?

a. e
b. TR
¢. BT

d. IR

Answer. b

30. Wi’ HIvR T sTe=r SUFRE e 8 T2

a. AEHd
b. FR
c. ardt

d. Tered

Answer. ¢



31. 3Re g TRA AR R Ay A

a. $-T6
b. BT
c. 3M-aEH
d. IT-3RY

Answer. a

32. 2011 SRR, AHeTE TERIETT IS HI0MT 3R?

a. 5d1
b. 1<t
. 2%
d. 7a

Answer. ¢

33.2011=1 SUFIER HERIPMET JEeRdl &R S 37:

a.0.75
b. 0.7

c. 0.64
d. 0.82

Answer. d

34, “f3=T UG e Wielidie! ST J8R gsa?

a. g
b. gt

¢. Hie

4. %

Answer. a

35. ggRIY HRardl Sfeidqt #ed fawdl eab aner <dl?

a.0.05
b. 0.15
c.0.25
d. 0.35

Answer. b

36. TERIPIAIA HIUIS WX AT HIgW faamvararst ulig smg?

a. 3T
b. 3ITETE



¢. BT
d. AR

Answer. a

37. 19602 4o Y-Riged HREM Hasd Geare a1 JIard faueH &

a. TERTE M7 Ficd
b. TERTY SMfOT TFeTOm
c. TERTY 3101 oRra
d. FeRTY Sffor e

Answer. ¢

38. qoyd ISR TfRAUMT=aT BT YN quiF Bad 3ed?

a. 4T 1
b. 4T 3
¢. "I 5
d. ymr 7

Answer. b

39. ISig softarien Rdla RAuymader sriee fbd Bemdd aea e Wbdr?

a. 2 A
b. 6 Tl
c. 9 AR
d. 1o

Answer. d

40. TSP U G TaEd Aot 99 TR UgdE ReRY FH?

a. §9 I Hea Al
b. 3lies Agal Al
¢. U uH Riudt afad
d. T Praat

Answer. a

41. TERTY faym uRwened e R SRiimyd fodt gewr Aaga Sama?
a.22
b.7

c 12

Answer. a



42, TR faur uRvey fRaat siftazm 3 Smaifsa &a ofra:

a. qus
b. AR
¢. BT
d.gor

Answer. b

43. TERTY ST RO HedHaR HERTY fumaay ufgd sreqer Hior gia?

a. 09, uq. R

b. TOET HRIAT e
¢. VEA ATEHR

d. Rl fyemax

Answer. a

44. 750 WIRA TaEd 3Rl S R g Fasuer a1 saedia Sder Tieea:

a. 4 A
b. 3 Al
c.lay

d. 6 Al

Answer. d

45. PV THRY fAYF TERIPR IsUTd HERTY fAUFINGS YIRS Ureq, Tebd Ter?

a. g e

b. ¥ fadus

¢. 9IS gExl [adgd
d. faa fadas

Answer. b

46. IRYFIIR TeRErE THURY fFAaM YU Temee fhdt ome:

Answer. a

47, YR ITsgged grndiiE aHe dicple g $RUgE G ST

a. 3 gy

b. fSreg1 e



¢. Yot ey
d. ¥9e

Answer. ¢

48. 43 S AR ufed JoF e S gha?

a. W Tg f=d 99
b. W f=s o=
c. 8 I Ao
d. . . SR

Answer. a

49, Gt ufeh NPT wiew dawerda W a1 il @i I

a. 1850
b. 1844
c. 1854
d. 1888

Answer. ¢

50. 33T Ragidt O adiet Bl Weva omg?

a. @
b. @R
¢. RIS
d. 38R

Answer. ¢

51. g §52 guadl Frfag Warda Hiaear 38 R FROGE A W)Rg I 48 Y FREeEd S aif gaquard

a. 1947
b. 1944
c. 1937
d. 1930

Answer. ¢

52, X I FURUIAIS! Wehed! HIo v RTTH HRugr 3ieit?

a. RRYgH Al
b. afceran aferdt
¢. MeTie Affdt
d. TP G

Answer. b



53.2023-24 auiadt TERIPR S GSDP AR 3d% 313

a.38.79 WG HIcT
b. 25 @@ HIct
c. 15 ar@ et
d. 14 9@ it

Answer. a

54.2022-23 quardt HERERT i e AR Sa@! o

a. GSDP 2.50%
b. GSDPY 7.50%
c. GSDPY 10%
d. GSDPY 0.5%

Answer. a

55, g, FPuR 31 a0 a1 ydier Giee SR

a. WeR& grior St

b. Uy HA a1 Ao (PMMY)
¢. YRardt @Y I e d6
d. WRAE Sienfie e 9%

Answer. b

56. 4s AR TN fawr mftrsRomdt wier ar adff e

a.27 5[ ,1975
b.23% , 1975

¢. 26 TRR,1974
d. 26 SMaR™, 1975

Answer. d

57. @ATIS!T B &F TERIFTHS FHIEG &1 Th HRT 3H1R?

a. 3T 3P fagRasT
b. et sfor wiff

c. SR 3or fRaor
d. it

Answer. ¢

58. Wi PG WYd e SEY W SRHEFT BH HRUGER qe Biad Hd?

a.SDG 2

b. SDG 7



¢. SDG 10
d. SDG 3

Answer. ¢

59, TERIFIA HI0T GHIS JURSIA 'S T gl Bed omd?

a. 9T =T FF
b. Riyars quwies
¢. TR Sfaen Bo
d. 7. it &

Answer. b

60. 915 MR fewd Tt gor Y wioran auf g e wperdt wIgAr el

a. 1896
b. 1880
c. 1870
d. 1875

Answer. b

61. TSt BT HIUAT JHRHET FHoll Araaaa d?

a. Jurem FHeit
b. FEARE Sl
c. SO St

d. IEfE St

Answer. a

62. PR TSR e GG JHUH d WIAHgT Soll JRaT HFA Hled a?

a. gH aled

b. BT @ Qra
¢. TKI e

d. 3T aer

Answer. b

63. - WU HUMYT TR &IF Wb EN?

a. 9vqd
b. 5@
. a1
d. Great

Answer. d



64. TIEAUP!T PV Thds AR SIoid fa@eyqun Hioware A 3e?

a. T
b. f&y
c. siffda
d. @i

Answer. d

65. BF3 Yumed foydla &1 &1 oral?

a.0
b. 1
c. 1.25
d.2.15

Answer. a

66. ST TS T BIUC 3R?

a, T
b. frde
¢. TCISH SH3ES
d. TR

Answer. b

67. 3ad IRUNHER HUAT dar 9 it Fafa sReeg eme?

a. TR
b. gftrH

c. Fef

d. s

Answer. ¢

68. WRhTUP! BT IR Aed Pa?

a. AFNECH

b. SMRERCYH
¢. S Weded
d. femrrargey

Answer. d

69. TIEAUP! HIUCT T Haid AelbE forad Tl 3me?

a. AR

b. TEFT



c. fodt
d. T8

Answer. b

70. ITIAAL, UG AP A Helr S

a, Tl
b. wRileH
c. iy
d. e

Answer. d

71. T AT GG WIOtads! HUMELT U bafl Sid?

a. hd
b. 33
¢. B Hel
4.9

Answer. ¢

72. GANA °9eHh ol WRATHY qOR HRal el B QU

a. Juq
b. Tea
c. =R
d. 3l

Answer. ¢

73, Jdsardiia SaiRagR B f@ciF TR Ha |2

a. f&2E A
b. fegft E
c. & D
d. fegdfem K

Answer. d

74. Frawe uRwee RaSY, Id IufRd Saedl 10 A ThHGNg Uhal gwigeH ad. &R TR0 e ¥d fodt gxdicas gre?



75. ya G B 38?2 3x + 2y = 10 4x + 6y = 12

a.10/7.0
b. 17/7.0
c. 12/7.0
d. 16/7.0

Answer. *bouns*

76. THT Pealdia dF Garar Jar S 42 5. I auHE I e Re 1 sfda?

a. 328
b. 378
c. 388
d. 338

Answer. *bouns*

77. TRAGRO FBRT: 123 - 19 x 2+ 12

a. 900
b. 920
¢. 910
d. 890

Answer. *bouns*

78. THT AT AHaA 19980 7. At 4523 a1 & ofdr 6323 T&W 3Med. TR MaRd Gard IRer =i,

a.9134
b. 9124
c.9114
d. 9280

Answer. a

79. Wi THIRU TG SIS Qe HIoRd R Srgdisea el Tifigsid o T 8-9%8/4+1=25

a. 3 o1fr ot e
b. TUIBR 30T USRI
¢. MR MO aoaret R
d. TSETT St UTER

Answer. a

80. Rraar TR YR WIRMNET 20¢H SR 3718, YRR TR TR 1200 3R, R Rrawr aiffe wr =i

a. 28800

b. 2430



¢. 2460
d. 2890

Answer. a

81. DIPIUR e 180 3R SO U 12 3R, TR Fpiumd It em

a. 30

Answer. a

82. I T TR 280 3R, ufewdr S T/ 360 3 120 3med. TR fawst TRem e

a.280
b. 120
c. 240
d. 360

Answer. d

83. i T g9 I AN 126 3R, T Ay TR wem

a. 40

Answer. b

84. I W A aRft 80 B MR, THUN 9% 4 AN 3Me, R o SfcR e

a.310
b. 280
¢. 420
d. 320

Answer. d

85. 80 WU 2003 fobelt Tah?

a. 40

Answer. a



86. THT STearl SREFIE 25 faud 2000 Seedl TR Sedl Sad. R 6 Rawd a8 fFd aeen @R gida?

a.420
b. 440
¢. 430
d. 480

Answer. d

87. 5 U¥ET @d 1220 3R, W 11 T¥f=n @ o,

a.2684
b. 2682
¢. 2660
d. 2650

Answer. a

88. 3= freunfawed, o WRdT Tdemr 2020-2021349R, FERIPIA UG WeX Aeifdis TR GBid 441 HHBER AR?

a. ge%
b. o1
¢. AR
d. TR

Answer. b

89. SIS STHRAMIER HERIETAT SHHIG HIVAT 3Mg?

a. 1d
b. 21
c. 3
d. 441

Answer. a

90. SRA IRRY HIURI' Hel GHIAY SRICedl B0l HU- qeared Hegad) 3?7

a. TS e SRRA b
b. siT=d SRR Fu faffics
¢. AT SRR HUl fafes
d. g 3fear Ty $ut fafies

Answer. d

91. HRaTE Ufget HRAE AfgEl 9F Waie! Sl eI & g

a. qus
b. 37



¢. BEAR
d. 78R

Answer. a

92, T U faum T o8, TS 3HeR Fled &1 Ul 0 T&I §9d. W S Tem 3m?

a. 73
b. a1d
¢, 3HPT
d. RT

Answer. b

93, TrEar - 15+ (-5x) =0

d. 45

Answer. a

94. § wfereT UgT: 38, 36, 32, 30, ? UG el WA HIURI Arael gal?

a.26

Answer. a

95, TR 13*11=341 3fdr 12*13=651 <R, 13*6=2

a.78
b. 76
c. 87

d. 84

Answer. ¢




1. (c)

11. (d)
21. (a)
31.(a)
41. (a)
51. (c)
61. (a)
71. (c)
81. (a)

d. 25

Answer. d

97. ARy g e yiieR aroEE

a. dieEgr

b. frcfidiex:wba
c. PISIWG:ged Tl

d. IR St gd

Answer. ¢

98. FrRIA gt gEwd BRI AdT RRR uRwe (1)HRaren sfeggmerdi(2) G-20 Ter(3), Iwdig raska omfsra et Achi(4)

d. 4

Answer. d

99, T a¥ B Hio?

a. TP Ui Yot e

b. USRI THT auid Haedl YR 3R

c. TH1 feaundia yerm diear

d. UHRIH THT faud FHaed FaRm SfaR

Answer. b

100. & 3 ®US e ge?

a. 5280

b. 5260

¢. 6220

d. 6940

Answer. a

2.(a)

12. (d)
22.(b)
32.(c)
42. (b)
52. (b)
62. (b)
72. (c)
82.(d)

3.(a)

13. (a)
23.(¢)
33.(d)
43. (a)
53. (a)
63. (d)
73. (d)
83. (b)

4.(d)

14. (c)
24. (d)
34. (a)
44. (d)
54. (a)
64. (d)
74. (a)
84. (d)

Test Answer

5.(a)

15. (b)

25. (¥*bouns*)
35.(b)

45. (b)

55. (b)

65. (a)

75. (¥*bouns*)
85. (a)

6. (a)

16. (a)

26. (¢)

36. (a)

46. (a)

56. (d)

66. (b)

76. (¥*bouns¥)
86. (d)

7.(d)

17. (d)

27. (a)

37.(c)

47. (c)

57. (¢)

67. (c)

77. (*bouns*)
87. (a)

8.(c)

18. (*bouns*)
28. (a)

38. (b)

48. (a)

58. (¢)

68. (d)

78. (a)

88. (b)

9. (a)

19. (d)
29. (b)
39.(d)
49. (¢)
59. (b)
69. (b)
79. (a)
89.(a)

10. (2)
20. (d)
30. (¢)
40. (2)
50. (¢)
60. (b)
70. (d)
80. (a)
90. (d)



91. (a) 92. (b) 93. (a) 9. (a) 95. (c) 96. (d) 97. (c) 98. (d) 99. (b) 100. (a)



